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Paper 1 Booklet A
Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.

For each question, four options are given. One of them is the correct answer.
Make your choice {1, 2, 3 or 4) and shade your answer on the Optical Answer Sheet,
(20 marks)

1 Find the value of {100 + 250 + 10} x 3.

{1} 105
@ 175
@) 326
(4) 375

i

2 Which of the foliowing numbers when rounded to the nearest hundred
becomes 6% 4007

(1) 61349
{2) 61449
(3) 61450 o
(4) 61495

5
3 How many sixths are there in 4 5’?

(1y 29
@y 26
3 15
(4) 5

ATS 2022 £5 patts End-ol-Year Pager 1
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1
4  Which of the following is not equal lo 5‘?

36
@ ;3
a8
1 3
B 5"
3
W 7%

5 What is the value of X in the scale below?

R T O I O O O O O O O N A
a 1 %

4.8 4.9 5.0
(1) 5.04 X
(2) 5.02
{3) 5.2
{4) 5.4
6 A typist can typs 160 words in 5 minutes. At this rate, how long does the typist

take o type 320 words?

(1) 10 minutes
{2) 2 minutes

(3) 32 minutes
(4) 64 minutes

ATS 2022 F5 Main Enc-ol-Year Paper 1
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7 Whatis the missing number in the [ ]?

7:[]1=3:15

(1) 19
{2y 2t
{3) 24
4) 35
8 Four letters P, €, A, and R are shown below. How many of the letters |

hasfhave a line of symmetry?

- ' N '
(M 1
(2) 2
(3) 3
@ 4

ATS 2022 PS Motk End-of- Year Poper t
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3 In the figure below, AF, BD and CE are straight lines.
LAFE = 43°. ZAFB is a right angle. Find .~CFD,

(1)
(2)
(3}
(4}

ATS 2022 P§ Malh End-of-Year Pager 1
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0 Whatis the area of tiangle ABC?

S om

20 cm

{1) 90cm?
(2) 108cm?
(3y 120 cm?

(4) 240 cm?

11 The ratio of the cost-of art sraser to the costofapenis 2.5 Arulertosts - - -
twice as much'as the eraser. What is the ratio of the cast of the ruler 1o the )
cost of the eraser to the total cost of the threa items?

() 2:4:5
(2) 4:2:5
(3)  2:4:11
@) 4:2:11

ATS 2022 5 Math End-of-Year Paper 1
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12 The average mass of four boys is 52 kg. The masses of Camercn and James
are shown in the table below. Leon and Zach are of the same mass each.
What is the lotal mass of Zach and Cameron?

s om sy @ amnn ——— [ ey

. Cameron James | Leon | Zach |
SRR ANURIVUOA WY SN UUUUU S SR — |
| 42kg 56 kg 22 l
S A S SR

(1) G5kg

2) 92kg

(3) 97kg

(4) 110kg

i

13 Jovan had a piece of reclangular paper and folded it along the dolied ling as
shown below. Find Zy.

(13 117¢
| 2y 126°
1 (3)  144°

(4) 153°

A1S 2022 P5 Ma Eng.of-Yeor Paper t
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14 Which one of the figures below shows that 40% of the figure is shaded?

{1)

3)

(1}
(2)
{3)
{4

15 _ Inthe figure below, a rectangular glass box is filled with soma 1-cim mbes

Figure B

Figure C Figure D

Figure A
Figure B
Figure C
Figure D

Whal is the volume of the rectangular glass box? "+

M
(2)
)
(4}

8 cm?
12 em®
33 emd

45 cm?

ATS 2022 PS Math End-of-Your Paper §
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BookletB

Questions 16 1o 20 carry 1 mark each. Show your working clearly in ihe space
provided for each question and write your answers in the spaces provided. For
guestions which require units, give your answers inthe units stated. {5 marks)

16 Express 1.3 ¢in litres and milfifitres.

Ans; m

17 Find the value of 0,32 x 40.

Ans:

e s . . —

18 Find the value of s Give your answer in the simplest Torm

Ans;

4]

ATS 2022 B Math End-of-Year Paper ¢
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19 MrMuthu bought 3 plush toy, He had to pay 7% GST.
How much did Mr Muthu pay for the plush toy inclusive of GST?

S

e B30

:"‘1 1 for $20
Ans: 8.
3 \
20 Express 3 a8 a decimal.
. Ans:
ATS 2022 PS Mok End-of-Year Pager 1 g
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Questions 21 to 30 carry 2 marks each. Show your working clearly in the space
provided for each question and write your answers in the spaces provided, For
guestions which .require units, give your answers in the unils stated, (20 marks)

21 The figure below is made up of 3 identical rectangles. v
The area of the figure is 24 cm? Whal is the perimeter of the figure?

ANs_ cm

% L
22  Theo is making some cookies based on this cookie r2cipe.
He makes 8 cookies each lime.

T A s

Mini chocotate cookies
{Makes 8 cookies)

* 90 g flour
» 100gsugar
» 40 g cocoa powder

He has 600 g of flour, 420 g of sugar and 280 g of cocoa powder.
How many cookies can Theo make al most?

ADS:

ATS 2022 PS5 Math Cad-of-Yusr Poper ¢ 10
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23 Joash stacked 12 unit cubes 1o form the solid below.

Top view
V7 rfl “‘; 1
B 7
S5 "\

/ Side view

Fronl view

¢

Oraw the front view and the top view of the solid on the grids below.

N e L WA Nk | 4 —— i+ + S t— = o 1

. e - . cmmh e hmmet
. { . :
Front View i Top View '
- LY . -* L ] a » [ - - » L] - L} Al %
%
] . « - - - L3 . - » - » » - .
L] L3 L] L L ] . * L] L) - -« . . -
- 1. -
- . -4 . . .- . -
. . . » . . . f - H ® & ¢ & - .
3
. S - » Y » . { - q4 » . - . »
!
- - - L] » - L] ; » L} . » » - -
i
Ay [ ————— b
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24 The time Janet spends on her piano, dance and swimming lessons is in the
ratio of 5 : 4 : 3. She spends 8 hours on ali thage enrichment lessons,
+How much time does she spend on her dancg lesson?
Leave your answer as a mixed number.

Ans: ]

25  Inthe figure, PQRS is a thombus. Find L y.

P Q

Ans:

ATS 2022 PS5 Math Er-oi-Yesr Pagor 1
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1
26 Wrs Tan baked a cake, She gave 3 of (he cake to Shirley.

1
Then she gave 5 of the remaining cake to Peler.
What fraction of the cake was Mrs Tan loft with?

Ans:

27 The table below shows the charges of an inline skiates rental shop.

) RENTAL CHARGES !

For the first 30 minutes 54 ‘J
e B )

For every subsequent 5 hour or parl thereof $2.50 k

Elaine arwd Alicia each rented a pair of infine skates for 3.5 hours.
How much did they have to pay altugethsr?

Ans: §

ATS 7027 P35 $alh End-ol-Yaar Popar ) i /
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28  Deena had 20 fewer stamps than Joey at first. Deena gave 12 of her stamps
to Joey. Joey now has 3 times as many stamps as Deena, How many stamps
did Deena have at first? .

Ansg:

29 ABCis a siraight line. ZABD is 149° and ZEBC is 118°, Find £EBD.

£

o

Ans; ' °

ATS 2022 P Math £nd-of-Yoar P3apor ) 14
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30 Two 1-crn grids are shown below. Triangle A is drawn on the grid.

Draw a right-angled triangie with the same area as triangle A on the second

grid bejow.
fA N
: i
| -I R L
J : %1 cm
IS S S
e
1om
} i | e
IR
3 e ; ‘ * d
; LI Rl |
) ? b 1
, : 1
: !
|
|
:-.e -~ - bearie e s ot |
: |
! :
; ;? . T1 cm ‘
I N 4 i
Sy
icm
£nd of Paper
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Paper 2

Questions 1 to 5 carry 2 marks each. Show your working clearly in the space provided

for sach guestion and write your answers in the spaces provided. For questions which s
require units, give your answers In the units stated. (10 marks)

1 Patricia has 0.35 kg of flour, Mary has 0.68 kg more flour than Patricia.
How much flour do they have allogether?

Ans: kg
2 After Patrick spent $6 on a meal, he had $24 left.
- What percentage of his money did he spend?
CAnE - T T e %
e e USRS U
|
3 Mdm Koh paid $266 for 8 swimming lessons. She paid the same amount for

each lesson. At this rate, how much would she need to pay for 6 lessons only?

Ans: § .

ATS 2022 P5 Malh Enel-al-Yese Paper 2
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4 A shop opens daily for the time shown in the table below.

Opening hours

8.30 amto 12.30 pm

2pmto 4.45 pm

530 pm1io 9 pm

How many hours and minutes is the shop open each day?

X Ans: h min
5 in the figure below, all lings imeet at the right angles.
What is the perimeter of the figure below?
20m
2t m
Ans: m

—— “ s

ALS 2022 PS5 Muth Enp-ol-Year Papec 2

More papers available at www.testpapersfree.com

BP~320



For questions 6 to 17, show your working cleary in the space provided for each
question and write the answers in the spaces provided. The number of marks available
is shown in the brackets [ ] atthe end of each quastion or part-question.

{45 marks)

rd

8 in the figure, ABCD is a trapezium and BCDE is a rhombus.
AE = ED. £ AED = 128", Find £ ADC.

B

. /’r,/\ v .
D

A_/"

Ans: (3}

7 A wooden plank is sawed into two parts.

The first part is 3.76 m fong. It is 1.38 m longer than the second part.
How long was the wooden plank before it was sawed?

et e mee, »

Ans; [3}

ATS 2022 P5 Math End-of-Year Papor 2
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B There were 147 children and some aduits at a carnival.

2 _ 2
3 of the aduits were men and the rest were women. & of the people at the

carnival were women. How many peaple were at the carnival?

Ans: (3]

ATS 2022 P56 14ah End-al-Year Paper 2
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g {n the figure below, RSTU is a parailelogram.
RS =RVand 2SRV =46,

(a}  MName an angle that has the same size as 2 STU.

Ans () | f1]

e 'uvl'{"b‘) . Fi!’!d 4RVLJ.¢ . oo T

Ans : (b) {2)

ATS 2072 15 Math Enti-of Year Poaper 2
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10 David used 80 biue tiles, 48 red tiles and 24 green tiles to design dProject.
(@) Find the ratio of the number of blue tiles to thg number of red tiles to the

total number of tiles that he used for the project.
Give your answer in ils simplest form.

Ans - (2) {1]

{b) David designed another project using blug, red snd green tiles in he same
ratio as above. He used a total of 792 tiles.
How many green tiles did he use?

Ans @ (b) 2]

AYE 2027 F5 14aih £60f-Year apar 2 4l
6 l
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11 Aisha, Belle and Carl baked an average of 128 cupcakes,
*»  Aisha and Belle baked an average of 126 cupcakes.
Belle and Carl baked an average of 115 cupcakes.
How many cupcakes did Befle bake?

Ans: 14l

ATE 2022 PS5 Math Endhof-Yaar Pogior 2
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12 At a Sports ¢camival, cups of Milo were distributed from a Milo van to siudents.

The line graph shows the volume of Milo left in the Milo van at different times .
of the day.
400 — lk
300 s
ﬁxiu -
Volume I N — '
of Milo AN -
feftin 200 N _
litres C
N -
100 +——— - 1 i S ——
~1
0 A - . i o i, cu—
0800 11 G0 1300 1500 17 00 «
Timn

{a)  During which two-bour intarval was the decrease in the volume of Milo
the greatest?

LAt Kl

{b)  How many litres of Milo was distributed from 09 00 to 17 007

Ans : (b) [2]

{c}  The volume of each cup of Milo distributed was 120 mi. How many
cups of Milo were distributed from 08 00 to 17 007

Ans {C) (11

ATS 2022 'S Malh Endwof-Year Pager 2 =
g
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13 In the diagram, UVW is a triangle. VYX and UYZ are straight lines.
Y is the mid-point of UZ and Z is,the mid-point of VW,
WX is twice as long as UX. UZ is 48 cm and VW is 52 cm.
What is the area of the shaded part WXY27?

U

48 cm

Ans:

{4}

ATYS 2002 P5 Math Eed-ol-Year Papor 2

More papers available at www.testpapersfree.com

ey vt

P




BP~328

2
14  Alice, Brenda, Charles and David shared a box of cards. David took P of the

3 .
cards fram the box. Charles took 0 of the remaining cards. Brenda took

18 more cards than Charles and Alice took the rest of the cards.
Alice had 54 cards. How many cards were lhere in the box al first?

Ans I ]

AYS 2022 PS Maih End-of-Yoor Papor 2
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13 Lines are drawn to form figures that follow a paliem.

Figure 1 Figure 2 Figure 3 Figure 4
- - i _ ;
Figure Number of squares | Numbar of lines drawn
- . . , 5" 2 i
2. } S _ 12
SR SR 8 ‘ 17 —
. S 8 .. S A

(a)  How many lines are needed to form Figurs 47

Ans : (a) e ]
(b}  How many squares-are there-in Figure 367 -
Ans : (b) . M
(¢}  Which Figure is drawn with 62 lines?
Ans : (c) . _ 2]

ATS 2022 P5 Mot End-oi-Yoor Paper 2
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16 A rectangular tank 31 cm long, 48 cm wide and 50 cm high contained 6.8 £ of
waler at firsl.

T
//
o e (150 cm
. ' >

~";“ . = . ﬁégs )
SIS —— 46 cm
s B

31 em

{a)  Whatis the capacity of the rectangular tank?

Ans : {a) i

(b}  The tap was turned on. Water flowed from the tap info the tank al a rate
of 3 £ per runute, At this rate, how long did it take to fil the ([ank?

{b) (3]

e et o A e A— 1 i

AYS 2022 15 dacetn Eout-oi-Yeur Paper 2 { ":‘“
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17 Marcus bought some books and files for a total of $192.

2 books and 1 file cost $11.20. Each book cost 3 times as much as a file.
He bought 8 more books than files.

(a) Whatis the cost of t file?

Ans : (a) ' {1
(b)  How many files did Marcus buy?
Ans © (b) M
ATS 2022 PS5 Math Enti-l. ;
ATS 2022 P Math End-ol-Yoar Paper 2 End of Paper
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SCHOOL

LEVEL : PRIMARY 5
SUBJECT : MATHEMATICS
TERM 2022 SA2

Al TONG PRIMARY SCHOOL

PAPER 1 BOOKLET A

Q1

Q2 Q3 Q4

Q5

Qé

Q7

Qs

Q9

Q10

4

2 1 2

Q11

Q12 Q13 | Q14

Q15

4

PAPER 1 BOOKLET B

Q16)

1£ 300m¢

Q17)

12.8

Q18)

7
18

Q19)

20+100=0.2
20+0.2=20.2
02x7=14

20+ 14=%2140

Q20)

125x 3 = 0.375

Q21)

24+3=8

4444+44+4+2+2=20cm

Q22)

280+40=7
4x8=32

Q23)

Front View

Top View

« 3

Pgl
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Q24)

8x60 =480
480 + 12 =40
40x4 =160

160+6o=16-6-

WIN Ol

2

2-h

Q25)

180 -120 =60
180~104-60=16
180~ 104 =76

76 ~2 =38
38-16=22°

Q26)

5

9

Qz7)

3x2=6

6x25=15
15+4=19
19x 2 =$38

Q28)

124+12 4+ 20 =44
44 +2 =22
22+12=34

Q29)

149-118=31

Q30)

118-31=87°
! ]

PAPER 2

af)

0.35 + 0.35 + 0.68 = 1.38kg

Pg2

More papers available at www.testpapersfree.com

BP~334



Q2)

24+ 6=30

6

'é_o'—
— .20
~ 100

=20%

1
5

Q3)

266 +~ 8 = 33.25
33.25x 6 = $199.50

Q4)

10h15min

Q5)

20+ 20 +21+4+21=82m

Q6)

180-128 =52

52+ 2=26

180-52 =128
360-128-128 = 104
104 +- 2 =52

128 + 26 = 154°

Q7)

3.75 - 1.38 = 2.37
2.37 +3.75 = 6.12m

Q8)

9u-2u="7u
2u+ 2u=4u
7u-4u=3u
147 -3 =49
49x9 =441

Q9)

a) < SRU

1b)180 —46 =134

" 134 +2=67
180 - 67 = 113°

Q10)

a)b:4:11

b)60 : 48 : 24
10 : 8 : 4
5: 4 : 2

54+4+2=11

792+11=72
72x2 =144

Q1)

128x 3 =384
126x 2 =252
115x2 =230
252+ 230 =482
482 - 384 =98

Pg3
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Q12)

a) 1100 to 1300

b) 360 - 60 = 300¢

¢) 300 x 1000 = 300000 s
300000 <+ 120 = 2500

Q13)

-,}x48x 52 = 1248

-;-x26x24~=312

éx 1248 = 832

832 - 312 =520cm?

Q14)

54+ 18=72
72 +4=18
18x10=180
180 +~3 =60
60x5 =300

Q15)

a)17+5=22
b) 36x2=72
¢) 62-7 =55
55+5=11
11+1=12

Q16)

a) 31 x46 x50 = 71300cm?
b) 71300m8 = 71.3¢
71.3-6.8 =64.5
64.5 +3=21.5min

Q17)

a)2x3=6. ... .-
6+1=7"
11.2+ 7 = $1.60
b)1.6x3 = 4.8
4.8x8=384
192 - 38.4 =153.6
1.6 +48=064
153.6 + 6.4 = 24

Pga
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